'USPPIGI0} 8 YILSIT Jo uorsSiuad usm J0ud N0y ‘Sueau AUE £ 0 Wioj Au Ut UOKINPOIG) Aue ‘S1opau oy

‘panIesal paiapIsuod aq o} ale Aay) ‘yons se pue Y1513 Jo Auadoid a1e paurejuod )i Ul UONEWLIOJUI BY) PUE JUBLUNOOP SIY |

Sheet

1
of

Revision

B

| Volume:

Material: -

Electronics COMET 700/500

Drawing number

020.987

=&

Scale

1:4

Format

A3

Drawn by

Odermatt, Markus
Checked by

Gisler, Lukas

Date

16.12.21
Date

29.11.22

Switzerland

259] Leister Technologies AG

Model: 020738-0002.asm




This document and the information in it contained are property of LEISTER and as such, they are to be considered reserved.

Therfore, any reproduction in any form or by any means, without prior written permission of LEISTER is forbidden.

©

§ Molykote P74
& grease class KP 1 K-20
Fettklasse KP 1 K-20

@ Loctite 242 /243

£ E-Weld Nozzle / Shield

+*

B | C
Pos. [ Name Standard Material Leister Bossard
202 | Hex socket cap screw M& x 12 IS0 4762 INOX AZ 100.616 1233211
Apply solid lubricant paste 206 | Hex socket cap screw M4 x 6 IS0 4762 INOX AZ 120808 | 1233173
Festschmierstoffpaste auftragen 207 | Washer Mé& (4.3/12/1) IS0 7093 INOX AZ / 140HV [ 102.247 1M7130
_ 211 | Hex socket cap screw M3 x 10 IS0 4762 INOX A2 120426 | 1233122
Qﬁpgn:‘/:'rts';;’erg";i r%]:zf:rf 21h | Hex socket cap screw M5 x 1 | IS0 4762 INOX A2 120679 | 112333
215 | Washer M5 (5.3/10/1) IS0 7089 INOX A2 / 140HV | 100123 | 1253212
Medium strength threadlocker 218 |Hex socket cap screw M6 x 16 IS0 4762 INOX A2 106.731 1233351
Schraubensicherung mittelfest 219 | Hex socket cap screw M6 x 25 | 1S0 4762 INOX A2 106726 | 1233386
Apply release agent 224 | Hex socket cap screw M5 x 12 ISO 4762 INOX AZ 100373 1233289
Trennmittel auftragen 238 | Lockwasher Mé& (4.25/7.6/0.9) OIN 127 B INOX A2 / 14310 | 101008 [ 1253581
Apply thermal conducting paste 245 | Parallel key 2 x 2 x 10 IS0 R773 Steel [ 45 K 153914 | 1316710
Warmeleitpaste auftragen 255 | Retaining ring for shafts @8 DIN 471 Spring steel black [ 100309 | 1288571
256 | Retaining ring for shafts @6 DIN 471 Spring steel black | 100391 | 1288555
259 | Hex socket cap screw M4 x 25 IS0 4762 INOX AZ 121914 | 1032739
266 | Hex socket cap screw M4 x 10 IS0 4762 INOX AZ 120809 | 1233203
268 | Hex socket cap screw Mk x 45 IS0 4762 INOX AZ 137.713 1111965
268 | Hex socket cap screw M4 x 40 IS0 4762 INOX AZ 112503 1M11396
281 | Parallel key 3 x 3 x 10 IS0 R773 Steel [ 45 K 156554 | 1316877
Standard components can no longer be ordered as a single unit.
They are only available on request and restricted to a minimum order quantity.
Material: - Volume:
Date Drawn by Sheet
16.12.21 Odermatt, Markus . 2
— et Electronics COMET 700/500 -
29.11.22 Gisler, Lukas 2
Format Scale Drawing number Revision
Leister Technologies AG 6‘@'
Switzerland A4 1:1 020.987 B

Model: 020738-0002.asm




